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HEEMMIEN (F)EHEEE) 0.5 4 4.5
B FEMAFEV (PEHEEE) 0.5 4 4.5

gt 1. 04 0.5 6.08 7.62

R T#d2 H —K N7 T 4 TIRBR 0.25 0.5 0.75
FERART T 4 T A PR ER) 0.02 0.04 | 0.06
?Eﬁ%§%47§(32§%%ﬁ) 0.02 0.04 | 0.06

EES 7E 1 2= BN 0.25 0.5 0.75
HE EMBFIE I (SRR oE) 0.5 1 1.5
EEHFE (%2075 328) 0.5 4 4.5
B FEMAFEV (PEHEEE) 0.5 4 4.5
gt 1. 04 0.5 6.08 7.62

R KEF HEA HOSEEEE G m) 0.73 0.73
AT T 4 TIRER 0.25 0.5 0.75
AT T 4 T A PSR RER) 0.02 0.04 | 0.06
FRART T 4 7B (PR ER) 0.02 0.04 | 0.06
HEFEMAFRN (WEHEEE) 0.5 4 4.5
(ﬁfﬂ@%w(@% BEE) 0.5 4 4.5
BEA LV E—V YT 0.22 | 0.22

gt 1.29 0.73 8.8 10. 82

R S HO SRS Gh b m) 0.73 0.73
AT T 4 TIRER 0.25 0.5 0.75
%§$§V?47AE%?§§@§) 0.02 0.04 | 0.06

RRTG T 4T B U RS 0. 02 0.0 )
%émé%ﬁgﬁﬁwééﬁﬁ ) 0.33 ! 3%
HEEMMFIEN (F)EHEEE) 0.5 4 4.5
B FEMAFEV (PEHEEE) 0.5 4 4.5

A SDGsHFR D ZHEFRFEDOMRAL « FEhE D FEB 0.25 | 0.25 0.5
A SDGSIZXf s L2 T — 7 3 a3 » 7O & FEER 0.08 0.08 0.16
gt 1.95 1. 06 8.58 | 11.59

TR mA  RHI HO SRR &b m) 0.73 0.73
AT T 4 TIRER 0.25 0.5 0.75
AT T 4 T A PSR RER) 0.02 0.04 | 0.06
FRART T 4 7B (PR ER) 0.02 0.04 | 0.06
HEEHFE 1 (Bl - ) 0.25 0.5 0.75

BEHAIZEIT (2 ERE7E) 0.5 1 1.5
HEFEMAFRN (WEHEEE) 0.5 4 4.5
(ﬁ%%@%w(@%ﬁﬁ%?) 0.5 4 4.5
BEA LV HE =T 0.22 | 0.22

gt 1. 54 1.23 10.3 | 13.07

TR ESNI- RT T 4 TIRER 0.25 0.5 0.75
FRART T 4 T A PR ER) 0.02 0.04 | 0.06
?Eﬁ%§%47§(32§§%ﬁ) 0.02 0.04 | 0.06

EES 7E 1 2= BN 0.25 0.5 0.75
HEEMBFIE I (R IE) 0.5 1 1.5
EEHBFZE (%2075 328) 0.5 4 4.5
ﬂﬁ%mﬁ%w($%ﬂﬁ£%) 0.5 4 4.5
WEA L HE—r T 0.22 0.22
it 1.54 0.5 10.3 | 12.34

LR NI RT T 4 TIRER 0.25 0.5 0.75
AT T 4 T A PSR RER) 0.02 0.04 | 0.06
FRART T 4 7B (AR ER) 0.02 0.04 | 0.06
HEEHFIE 1 (Bl - ) 0.25 0.5 0.75

47/48



HE EMBFIE I (SRR oE) 0.5 1 1.5
EEHFE (F1%207E 328) 0.5 4 4.5
HEEMMFIEIV (hEHEEE) 0.5 4 4.5
WAL E—r T 0.22 0.22
it 1.54 0.5 10.3 | 12.34

R THEE TN RI T ¢ THEER 0.25 0.5 0.75
FRART T 4T A (CFREHRER) 0. 02 0.04 | 0.06
?Eﬁ?y%47%é?ﬁiﬁwﬁ) 0.02 0.04 | 0.06
HEFEMBIZE T (Bl - 2 0.25 0.5 0.75
BEHAIZET (2 ERE7E) 0.5 1 1.5
HE MR (F1EBH KE) 0.5 4 4.5
BEEHFEIV (FEHEFY) 0.5 4 4.5
WMEA LV E— T 0.22 0.22
it 1. 54 0.5 10.3 | 12.34
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